RGB > HLS

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M18#text18

HLS > RGB

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M19#text19

RGB > CIE Lab

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M2#text2
http://www.easyrgb.com/math.php?MATH=M7#text7

CIE Lab > RGB

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M8#text8

http://www.easyrgb.com/math.php?MATH=M1#text1
RGB > CIE Luv

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M2#text2

http://www.easyrgb.com/math.php?MATH=M16#text16

CIE Luv > RGB

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M17#text17

http://www.easyrgb.com/math.php?MATH=M1#text1
CIE Lab / Luv > CIE LCh

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M9#text9

CIE LCh > CIE Lab / Luv

Logicol S.l.r. 2007 szerint:

http://www.easyrgb.com/math.php?MATH=M10#text10

Munsell > 100 fokú Munsell

Hue# -5+

ha Hue@

YR = 10

Y = 20

GY = 30

G = 40

BG = 50

B = -40

PB = -30

P = -20

RP = -10

R = 0

100 fokú Munsell > Munsell

Hue%+5

Hue#= hue% 1-es helyi értékű száma és a tizedesek

Hue@= hue% 10-es helyi értékű száma, lásd fent

RGB ΔE
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CIE ΔE94

Leow Wee Kheng (2002) szerint

ΔE94=
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CIE ΔE00

Gaurav Sharma (2007) szerint:
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